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 Indirect Length Word Problems - Independent Practice Worksheet  

Complete all the problems. Use the space to the right to help you work the 
problems out. 

1. In Tom’s pin collection, the fish pin is 
6 centimeters tall. The dog pin is 2 
centimeters taller than the fish pin. The 
cat pin is 3 centimeters shorter than the 
fish pin. Which pin is the tallest? 

 

2. At the parking lot, the red car is 12 
feet long. The white car is 4 feet shorter 
than the red car. The blue car is 2 feet 
longer than the red car. Which is the 
smallest car? 

 

3. Ron’s spoon is 15 centimeters long. 
Kate’s spoon is 5 centimeters shorter 
than Ron’s spoon. Jack’s spoon is 2 
centimeters longer than Ron’s spoon. 
Who has the tallest spoon? 

 

4. In Lucy’s house. The master bedroom 
is 6 meters long. The kitchen is 3 meters 
shorter than bedroom and the children’s 
room is 3 meters longer than the master 
bedroom. Which is longest room? 

 

5. Honey’s school bus is 17 meters long. 
Monty’s school bus is 12 meters long. 
Who has the longer school bus?  
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6. Justin’s dog is 18 centimeters long. 
Paul’s dog is 2 centimeters shorter than 
Justin’s dog. Ronnie’s dog is 2 
centimeters longer than Justin’s dog. 
Who has the tallest dog? 

 

7. The school building is 20 meters tall. 
The hospital is 4 meters longer than the 
school building. The office building is 6 
meters shorter than school building. 
Which building is longest? 

 

8. Jerry’s TV remote is 12 centimeters 
long. Diana’s TV remote is 5 centimeters 
shorter than Jerry’s remote. Hanna’s TV 
remote is 3 centimeters longer than 
Jerry’s remote. Who has the longest 
remote? 

 

9. The Mango Tree is 8 feet long. The 
Guava Tree is 3 inches shorter than the 
Mango Tree. The Apple Tree is 4 inches 
longer than Mango tree. Which tree is 
the smallest? 

 

10. Toni’s bottle is 5 inches long. 
Benny’s bottle is 2 inches shorter than 
Toni’s bottle. Ronny’s bottle is 1 inch 
shorter than Toni’s bottle. Who has the 
shortest bottle?  

 


